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Unit 7A Day 7: Reflecting Functions

Focus Question: How do I reflect a function?
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A. Today we will contiue to look at A7¢x) and f(kx) where f(x) is the function and & is some constant value.
These transformations will also reflect a function. When we looked at them yesterday we focused only
on positive values of k.
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B. Transformation Kf(x) when k is negative

Use two different colors to graph each function
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( | 3) What does the transformation kf{x) do to the function if k 1§ negative?
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C. Trans_‘f ormation f (kX) when k is negative

Use two different colors to graph each function

g(x) = J(-x)
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3) What does the transformation f(kx) do to the function if k is negative?
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D. Practice
I Describe what transformations happened to the parent quadratic if g(x) = -2(x + 3)?
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Again, these two transformations can be tricky 1f you don’t know the original function. For instance, the graph

of f(x) = |x + 2-| is identical to the graph above for g(x) = |—x — 2|. After this test, we will always assume
the transformation that has occurred is kf(x). This means we will describe all transformations as either a ‘(r‘r*

NE A ol stretch or compression and a reflection over the P axis.






